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FRE™ 63 63 0 0.0
R 176 142 34 23.9
BEm 53 53 0 0.0
BiE™ 85 78 7 9.0
=8m 0 0 0 #DIV/0!
EtE=Em 242 1,032 A 790 A 766
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e 0 0 0 #DIV/0!
FEm 0 0 0 #DIV/0!
AT 68 50 18 36.0
) 0 0 0 #DIV/0!
FEOET 0 0 0 #DIV/0!
Wz RH 0 0 0 #DIV/0!
BRAFEHT 0 0 0 #DIV/0!
SEIRET 0 0 0 #DIV/0!
FfRFEHET 0 0 0 #DIV/0!
XU ET 0 0 0 #DIV/0!
FERZAT 0 0 0 #DIV/0!
ERRRHT 0 0 0 #DIV/0!
FEKET 0 0 0 #DIV/0!
R RHET 0 0 0 #DIV/0!
INLIET 0 0 0 #DIV/0!
= HET 0 0 0 #DIV/0!
NIARZHET 0 0 0 #DIV/0!
7T 0 0 0 #DIV/0!
REH 239 205 34 16.6
15T 53 53 0 0.0
# W 494 1,425 A 931 A 653
BT A & 0 0 0 #DIV/0!
& &t 786 1,683 A 897 A 533




